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QID:1-
In the following question, select the number which
can be placed at the sign of question mark (?) from
the given alternatives.

Tafia uw # fRu or Redt & @ uw RE
(?) & T W A ael T B gRAT

8 5119
4 6 | 15
5|3 |2

Options:

1) 14

2) 16

3)17

4) 24

Correct Answer: 17

QID: 2-

How many triangles are there in the given figure?

& st A et Fager B2

\.

N
N4

Options:

1)4

2)8

3) 12

4) 16

Correct Answer: 12

QID:3-

the alternatives. The sets of numbers given in the alternatives are
represented by two classes of alphabets as shown in the given two
matrices. The columns and rows of Matrix-1 are numbered from 0 to 4 and
that of Matrix-ll are numbered from 5 to 9. A letter from these matrices can
be represented first by its row and next by its column, for example, ‘R’ can
be represented by 21, 57, etc., and ‘Y’ can be represented by 42, 98, etc
Similarly, you have to identify the set for the word “HORN”

T Qe hae Th TRATIHE )T gufar ¥, Shar 5 faweut # @
il wn & far mar {1 RAeeul # Bu v dwarweE HeRt & qr a9t
gRT gofw v ¥ Sar & Bu e o sneygt & {1 el & e 3R
ufeh i wEar 0 @ 4 § 3R N H 5 T 91 3T HYF A TH HaW
F Ugdl 3uH Ufh AR ag F TaEd TET gRT AT S Whar §
3ETR0T & U R’ @1 21, 57, 3G SRT ST S [ehl & TAUT Y’ Bl 42,
98, I ERT GRAT S Ahal &1 W e & JuH ud & RBu g
“HORN” & AT Wefg &1 UgdEa o

Matrix-I Matrix-ll

Y-l 3l
0]1]2]|3(4 56789
o|G|C|Oo|Q]|J S5|N|P|R|T|V
1|K[P|H[B]|L 6| X|Z|B|E|H
2|B|R[Q|J]|H 7|L|J|M|D|E
3|S|A|L|T|B 8(F|I1|O|C|N
4|0|K[Y|G|U 9|1Q|X|P|Y|G

Options:

1) 12, 03, 21, 56

2) 24, 88, 21, 89

3) 69, 03, 57, 89

4) 12, 87,57, 55

Correct Answer: 12, 87, 57, 55

QID: 4-

From the given answer figures, select the one in
which the question figure is hidden/embedded.

& % 3R gl # ¥ 3@ 3R Fgl & gaw
S & uw sl Bfea &

<

Options:
i
1)
%
2)
3) @
<
4)

Correct Answer:

K
)
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QID:5-
Which answer figure will complete the pattern in the
question figure?

4)
e @ 39 IPlA UH Hgla F ulwT @ @ Correct Answer:
Ffr? @
lo .
Options:
° QID:7-
A piece of paper is folded and punched as shown
1) below in the question figures. From the given
answer figures, indicate how it will appear when
Q opened?
2) @ & oy wgplawl # R@Emw 3gER Fwe @
! FAEHT Bed TUT Weld & IIE T8 TFE TR AFA
s g &eme
3)
: NN
a) \ Sl | &Y
Correct Answer: Options:
k A
1)
e N
2)
QID:6 -
If a mirror is placed on the line AB, then which of the
answer figures is the right image of the given 3)
figure?
afy me gUUT @ AB X1 W @ AW, ar & T 4)&

IR AgaAr # T Bl o pla oy ey &
T ufafeea @efr?

Correct Answer:

N
N

&

A< B

Options:
QID: 8 - If 'x' means '-', ' means '+', '+' means '+’
and '+' means 'x', then
56 +14 - 28 ="?

1) gfe 'x' T 7Y -, = T HY 4, + FT Y gUr

@ 7 3 @, @

2) 56 +14 - 28 =7
Options:
1) 56
2) 98

3) 3) 112
4) 42

Correct Answer: 112




QID:9-1f11 x12 x 10 =101211and9x 11 x 8
= 8119, then

5x14%x12=7?

gfe 11 x12 x 10 = 101211 M9 x 11 x 8 =

8119 &, dr

5x14x12="?
Options:

1) 51412

2) 12145

3) 52141

4) 21541

Correct Answer: 12145

QID : 10 - Arrange the given words in the sequence in
which they occur in the dictionary.

1. Layer

2. Laser

3. Label

4. Logic

5. Loyal

TAFATATET ereel 1 Arscenler # 3 ale Hd & ITAR
forg |

1. Layer

2. Laser

3. Label

4. Logic

5. Loyal

Options:

1) 35412

2) 34125

3) 41235

4) 32145

Correct Answer: 32145

QID : 11 - In the following question, select the missing
number from the given series.

17, 23, 31, 37,45, 51,59, ?

fAFafaf@d weat # QU a1v fashedl & & oo 3 A
ST

17, 23, 31, 37, 45, 51, 59, ?
Options:

1) 65

2) 67

3) 63

4) 69

Correct Answer: 65

QID : 12 - A series is given with one term missing.
Select the correct alternative from the given ones that
will complete the series.

AZ, BY, CZ, DW, ?

T 3T e I g, fored & U ue oed 81 e
T famedt # F g8 T Ahed AT, ST IThA Y
Qq A

AZ, BY, CZ, DW, ?

Options:

1) EF

2)FU

3)EV

4) FV
Correct Answer: EV

QID : 13 - In the following question, select the odd
word from the given alternatives.

fArafaf@a uea & fov 71w R{evedt & ¥ ww oo &1
gfav|

Options:

1) Pen

helH

2) Pencil

T

3) Page

gt

(S

4) Wax colour

AHY T

Correct Answer: Page
gss

(S

gso

(S

QID : 14 - In the following question, select the odd
number pair from the given alternatives.

FIT@d 92 & f&T T Gpeur & & fAwd @Ear
g7A Hr aﬁltra |

Options:

1) 10,1000

2) 5,125

3)6, 216

4) 4, 66

Correct Answer: 4, 66

QID : 15 - In the following question, select the odd
letters from the given alternatives.

eAfaf@d ueT & feu a7v RAhedl & & fawe 318wy
I giAw|

Options:

1) PQO

2) JKI

3) UVT

4) FEG

Correct Answer: FEG

QID : 16 - Identify the diagram that best represents the
relationship among the given classes.
Flower, Rose, Sunflower

g8 NG AT S A U a1w gt & & & Heer Hwr
T fAwaoT e B
G, [T, FITHAE!

LN K}
Options:

169
&

2)




,
@
4)

Correct Answer:

QID : 17 - In the following question, select the related
word from the given alternatives.

Hockey : Stick : : Tennis : ?

farafaf@d g 7 U 71w fawedt & @ Gafta reg
& gAT|

gy Rew - w2

Options:

1) Racket

Y%

2) Bat

ool

3) Gloves

&

4) Helmet

golAT

Correct Answer: Racket

IFe
IFe

QID : 18 - In the following question, select the related
number from the given alternatives.
729:512::343:?

fArAfaf@a wea & U 71w fYwedt & @ Tefta dwar
@ giaw|

729:512::343:?

Options:

1) 125

2) 216

3) 64

4) 225

Correct Answer: 216

QID : 19 - In the following question, select the related
letters from the given alternatives.
NPSA : PRUC: :BLUE:?

RAeafaf@a ueaT & r a7v R[(pedl & & gafaa 3Ry
& gAT|

NPSA : PRUC::BLUE:?

Options:

1) CMVH

2) DNWG
3) DNVH

4) CMWG
Correct Answer: DNWG

QID : 20 - In the following question, select the word
which cannot be formed using the letters of the given
word.

METICULOUS

fArAfaf@d f[Aeedl & & g e AT S o 1w
ersG & 3T&RT FT TART b Aal SeIrAT AT HehdT|

METICULOUS
Options:

1) TIME

2) SOME

3) SLIT

4) MEN

Correct Answer: MEN

QID : 21 - Present age of P is 34 years. 8 years hence
ages of P and Q will be in ratio 7 : 4. What is the present
age (in years) of Q?

P &I TCANT 3 34 a9 g1 8 aY 9 Paur Q
3G T AT 7 : 48| Q T IAAA 3G (st H)
FT 872

Options:

1) 12

2) 20

3) 16

4) 24

Correct Answer: 16

QID : 22 - In a row of shirts, white shirt is 15" from
right and yellow is 17" from left. If there are 40 shirts in
the row, then how many shirts are there between white
and yellow shirts?

FHGT Fr T dfFd H, The FArT aF & 158 § T2qr
drell sallel a1 & 17 dY &1 Ifg 9fda & 40 e §,
ar g aur drel FA & AL fhae waEer £
Options:

1)8

2)9

3) 10

4) 11

Correct Answer: 8

QID : 23 - In the following question below are given
some statements followed by some conclusions. Taking
the given statements to be true even if they seem to be
at variance from commonly known facts, read all the
conclusions and then decide which of the given
conclusion logically follows the given statements.
Statements:

I. Some cups are plates.

I1. No cup is blue.

Conclusions:

I. No plate is blue.

IL. No blue is plate.

A QT av weed & Fo FUA IR 3TF a6 3T FUaA
W IR Fo faswy fGu 1w §, greifh 3o aeey
AT T2 A fAeatar & Tonar &1 Tl sy g 3k



it faiRa &t & fov v la & oy, R are
FYAN F HUR W GiFadaTd gl

S Yo

1. $T FT T &

IL. 1S &Y oAer 78 &l

s

I. P Tl el 78T &

II. A Arelm Tole J81 &1

Options:

1) Only conclusion (I) follows.

Fad foses (1) & &

2) Only conclusion (II) follows.

Faor TSy (I1) Ter &1

3) Both conclusion follow.

alt & sy @ g

4) Neither conclusion (I) nor conclusion (II) follows.
T ar fsey (1) 7 & sy (1) Ter &1

Correct Answer: Neither conclusion (I) nor conclusion
(II) follows.

T ar fsey (1) 7 & sy (1) TEr &1

Fael oSy (1) T8 B

QID : 24 - In a certain code language, "JUMP" is
written as "LWOR". How is "COZY" written in that code
language?

T fafdse ®g 9T #, "JUMP" &1 "LWOR" for@r
ST 1 37 I AT H "COZY" & forg g for@r
STUam?

Options:

1) DQBA

2) EQBA

3) EPBA

4) EQBZ

Correct Answer: EQBA

QID : 25 - In a certain code language, "SHE" is written
as "32" and "MAN" is written as "28". How
is "THE" written in that code language?

T fafdse g T

#, "SHE" &I "32" gar1 "MAN" &' "28" for@r rar gl
30 HIs AW #H "THE" 1 forg gor for@r smeem?
Options:

1) 31

2) 34

3) 32

4) 33

Correct Answer: 33

QID : 26 - What is the sum of first 25 odd natural
number?

TUH 25 TAYH Yihd FEATHT T T 4T &2
Options:

1) 475

2) 575

3) 600

4) 625
Correct Answer: 625

QID : 27 - What is the sum of all natural numbers
between 1 and 150 which are multiples of 3?

19 150 ook & AEG ol dTell G Grehed HEAT3H, ST 3
I 3[0TST g1 T JNaT T g2

Options:

1) 3825

2) 4235

3) 3735

4) 4415

Correct Answer: 3825

QID: 28 -

What is the value of 22 ?

22 @ AT FAT &2

Options:

1) 128

2) 64

3) 256

4) 512

Correct Answer: 256

QID : 29 - How many numbers less than 100 are
multiples of both 3 and 4?

100 & A AT fohaelr TEATT § S 33T 4 &t &
TS §?

Options:

1)7

2)8

3)6

4) 12

Correct Answer: 8

QID : 30 - What is the HCF of 12, 15 and 48?
12, 15 T 48 Agcdd TATIGS FAT 87
Options:

1)5

2)1

3)3

4)6

Correct Answer: 3

QID : 31 - What is the LCM of 8, 12 and 20?
8, 12 U1 20 STgccd AT &7 872
Options:

1) 120

2) 240

3) 60

4) 360

Correct Answer: 120

QID : 32 - A can do a piece of work in 30 days and B in
40 days. With help of C, they finish the work in 10 days.
In how many days C alone can do the same work?



A Y #1 & 30 feT 7 X AFhar § a1 B, 40 feaT &
CHr Tgar ¥ 3 &1 & 10 o & &1 AT 3¢
AT &1 C 3FaT 39 FF A haer oo 7 FHEm?
Options:

1) 12

2) 15

3) 18

4) 24

Correct Answer: 24

QID : 33 - Ais twice as good as B and together they
finish a piece of work in 48 days. What is the number of
days taken by A alone to finish the work?

A T T FHRACIAT BE I & U7 9 kel fAerene fonely
F & 48 e H qU & Hehdl 81 A 3ehell 3 HI &l
fohdet &t # 9 X Feh 872

Options:

1) 72

2) 58

3) 56

4) 96

Correct Answer: 72

QID : 34 - If the ratio of edges of two cubes is 3 : 4,
then what is the ratio of the volume of the two cubes?
gie v el & 3it &l 3HeJdreT 3 : 4 g1, ar &l aal
& AT T FAT 3HUT gam?

Options:

1)27:64

2)3:4

3)9:16

4)9:64

Correct Answer: 27 : 64

QID : 35 - A trader allows two successive discounts of
10% and 30% on selling an article. If he gets Rs 630 for
that article, then what is the marked price (in Rs) of the
article?

T fashdl fhdll a&g & d9d AT & HiA® g 10%
AT 30% T g1 IS IS 37 630 T H UIed T g, ar
aEq @I Jifehd Hed (T A) & 8?2

Options:

1) 1000

2) 1100

3) 980

4) 1150

Correct Answer: 1000

QID : 36 - The marked price of an article is twice the
cost price. For a gain of 10%, what should be the
discount percentage?

Teh & H 3Hihd Hed SEH ol Hed & QA gl
10% @I 9o et & foiw, ge gfaerd & g2
Options:

1) 45

2) 55

3) 50

4) 60

Correct Answer: 45

QID:37-IfA:B=3:4andB:C=4:5, then what
isA:B:C?
gfig A:B=3:43RB:C=4:58,arA:B:Caar

grem
Options:
1)3:4:5
2)3:4:7
3)2:3:5
4)3:5:4
Correct Answer: 3:4:5

QID : 38 - If (4/5)P = (3/2)Q = (2/3)R, then what is P :
Q:R?

Ifg (4/5)P = (3/2)Q = (2/3)R &, a P: Q : R &1 gRI?
Options:

1)15:8:18

2)15:8:9

3)8:15:9

4)4:3:2

Correct Answer: 15: 8 : 18

QID : 39 - The average of 18, 20, 32, 8, x, 9 and 13 is
17. What is the value of x?

18, 20, 32, 8, x, 9 T 13 &7 3i\d 17 &1 x FT AT FaT
&

Options:

1)21

2) 19

3) 18

4) 20

Correct Answer: 19

QID : 40 - If chairs are bought at Rs 500 each and sold
at Rs 700 each, then what will be the profit percentage?

Ife T 1 500 T ufcr &t & a7 & @l 700 ©
vfer &t &1 ax & = o S, o oer gfeRrd
grem?

Options:

1) 10%

2) 20%

3) 30%

4) 40%

Correct Answer: 40%

QID : 41 - An article is sold at 10% profit instead of
10% loss, the man gains Rs 20 more. What is the cost
price (in Rs) of that article?

Wa"v_grﬁ 10% il & sgel 10% oI W §aad &)
Teh egfdd @l 20 T 3 UIed gl g1 aF] H HI
AT (T #) Fa1 7

Options:

1) 50

2) 100

3) 200

4) 400

Correct Answer: 100



QID : 42 - If P got 20% marks less than Q, then the
marks of Q is how much percent more than P?

afe Pa#r Q& 20% FA 3ish WIed gL, A QF 3k P&
3 & fhaer gfdera 3w 82

Options:

1) 20

2) 10

3) 25

4) 15

Correct Answer: 25

QID : 43 - If the price of a commodity is decreased by
20% and its consumption is increased by 40%, then
what will be the increase or decrease in the expenditure
of the commodity?

T qEG BT AT 20% FA § S § AT FHR TGIA
40% 9 ST 8, of ¥ W T #H fohcar wfaerd &r

®AT I gig grfre
Options:

1) 12% decrease
12% r FH#AT

2) 12% increase
12% T Elﬁg’
3) 20% increase
20% r Elﬁ:
4) 20% decrease
20% Fr FHAT

Correct Answer: 12% increase

12% F IR

QID : 44 - Speeds of a boat along the current and
against the current are 16 km/hr and 10 km/hr
respectively. What is the speed of boat (in km/hr) in still
water?

T AT FI AT ORI & 3HeJhel AT ORI & fdhel
feerm & sherer: 16 fohal /et aur 10 foh.af./aer g1 i
S & A9 Fr afa (e /aer 7) F21r g2

Options:

1)4

2) 12

3) 13

4) 14

Correct Answer: 13

QID : 45 - A bus travels some distance at a speed of 12
km/hr and returns at a speed of 8 km/hr. If the total
time taken by the bus is 20 hours, then what is the
distance (in km)?

vF g8 12 R dea & afa & Fo g a7 A
aur 8 fr. AT /aer &r aifd & amuw 3 g1 Ife 7 s&
I A H Pl 20 G H FAT A g, o g0 (R,
) Far 82

Options:

1) 80

2) 84

3) 96

4) 92

Correct Answer: 96

QID : 46 - A sum was invested on simple interest at a
certain rate for 3 years. If the interest rate is increased
by 5%, then the interest increases by Rs 225. What is

the sum (in Rs) invested?

Teh ¢RI sg1er &7 Tt afi¥e X & 3av & fav
HYUROT &A1 # fAder 7 o &1 e sarer e 5% @
deT &1 ST af saTeT 225 % & d¢ ST gl faaer &r 18
AU (T H) FAT 82

Options:

1) 1000

2) 1500

3) 1750

4) 2000
Correct Answer: 1500

QID: 47 -
The line chart given below shows the number of cars
stolen by city P and Q for the years for 2008 to 2016.

= T v @ By # 9§ 2008 @ I 2016 d%
o P gur Q F I g§ mfEHt Hr wEar Fv awfar
T B

~~City P/ X P - City Q/ 2T Q
1000 ggg 920

§ E 860

S

2]

&

[+

Q

L

o

15

Q

2

£

=

-4
v} D o = N [+p] < n (o]
= | = ~— - ~ -~ -~ -~ -~
o o o o o o o o o
N N N N (V] N N N N

Year / a§

What is the percentage decrease in the number of car
stolen in year 2015 from year 2014 from city P?

AET P A, a¥ 2015 F A g WA Fr FEAr 7 ¥
2014 # 9 g5 A Fr FEA 7 fhd gfaerd H
el €S 87

Options:

1) 50

2) 20

3)25

4) 33.33

Correct Answer: 33.33

QID: 48 -



The line chart given below shows the number of cars
stolen by city P and Q for the years for 2008 to 2016.
frr ffw o @ R # 3§ 2008 ¥ I 2016 %
o P aur Q F I g et Hr wear Fr awar
T g

4) 2016
Correct Answer: 2009

QID: 50 -
The line chart given below shows the number of cars

stolen by city P and Q for the years for 2008 to 2016.

= T v @ By # 9§ 2008 @ I 2016 IF

~*City P/ &I P - City Q/2m@TQ
770
800 - 700 g 670

o P gur Q F I g§ mfEAt Hr wEaw F awiar

T gl

—*City P/ 2gT P

- City Q /2T Q

=

K-

2.

k7]

o F 575 575 575

& & 600 475

3 E P

o &

S E 400 {°%®

5 425

2 2,

g . 200 1 250

=

2E |
[o0) (o)} o O N ™ < n (o]
O O ™ ™ ¥ = — —
o o o o o o o o o
N N N N N N N N N

Year / a§

In how many years the number of cars stolen from city P
is more than the number of cars stolen from city Q?
feperey af &, ez P 3 91 g$ anfeat iy wEwr weR Q
A gS AT Hr HEA F 3P g7

Options:

1)1

2)2

3)3

4)5

Correct Answer: 2

QID: 49 -

The line chart given below shows the number of cars
stolen by city P and Q for the years for 2008 to 2016.
@ Ru st @r g & 3§ 2008 & ¥ 2016 dF
U P aur Q F = gg At Hr wear Fv g
a2

Number of cars stolen
A g6 i A A

B ()]

o o

o o

——City P/ &I P T City Q/@TQ
770 7
800 -+ 700 o 670

575 575 575

475 A

525 b
425

250
[oe] I [e)] ' o -~ I N I [sp} < I o I [{o]
o o b f 53 -~ - o = =
o o o o =) o o o
N N N N N N N N N

Year / a§

In which year from 2008 to 2016, the combined number

of stolen cars from city

a¥ 2008 ¥ 2016 T, foFd a¥ # AT P dAT AT Q H
IR §S AMSAT B FAET FEA FIH foh &2

Options:
1) 2008
2) 2009
3) 2012

P and Q is maximum?

Number of cars stolen

0 (=] o -~ N ™ < n [{o]

= o -~ = T -~ s -~ -

o o o o o o o o o

N N N N N N N N N
Year / a§

The total number of stolen cars from the two cities in
year 2015 is what percent of the total number of cars
stolen from the two cities in 2016?
aﬁzmsﬁa’tﬁamﬁﬁzﬁﬂgémﬁa’fﬁgﬂm
aﬁzomﬁa’m’f&mﬁﬁiﬁﬂg‘émﬁiﬁ T & T Hear
FT foraar gfaera &2

Options:

1) 82.5

2) 86.5

3)87.5

4) 79.5

Correct Answer: 82.5

QID : 51 - In the following question, some part of the
sentence may have errors. Find out which part of the
sentence has an error and select the appropriate option.
If a sentence is free from error, select 'No Error'.

She did (1)/ nothing else (2)/ than study. (3)/ No
Error (4)

Options:

1)1

2)2

3)3

4)4

Correct Answer: 3

QID : 52 - In the following question, some part of the
sentence may have errors. Find out which part of the
sentence has an error and select the appropriate option.
If a sentence is free from error, select 'No Error'.
There is a (1)/ village about (2)/ the river. (3)/ No
Error (4)

Options:

1)1

2)2

3)3

4)4



Correct Answer: 2

QID : 53 - In the following question, the sentence given
with blank to be filled in with an appropriate word. Select
the correct alternative out of the four and indicate it by
selecting the appropriate option.

He died chance.

Options:

1) from

2) with

3) of

4) by

Correct Answer: by

QID : 54 - In the following question, the sentence given
with blank to be filled in with an appropriate word. Select
the correct alternative out of the four and indicate it by
selecting the appropriate option.
Her fingers were numb
Options:

1) with

2) of

3) for

4) on

Correct Answer: with

cold.

QID : 55 - In the following question, out of the given
four alternatives, select the one which best expresses the
meaning of the given word.

Crumble

Options:

1) Build

2) Assemble

3) Submissive

4) Forge

Correct Answer: Submissive

QID : 56 - In the following question, out of the given
four alternatives, select the one which best expresses the
meaning of the given word.

Defiant

Options:

1) Obedient

2) Respectful

3) Submissive

4) Rebellious

Correct Answer: Rebellious

QID : 57 - In the following question, out of the given
four alternatives, select the one which best expresses the
meaning of the given word.

Frail

Options:

1) Feeble

2) Firm

3) Unbreakable

4) Strong

Correct Answer: Feeble

QID : 58 - In the following question, out of the given
four alternatives, select the one which is opposite in
meaning of the given word.

Elasticity

Options:

1) Adaptability

2) Flexibility

3) Rubberiness

4) Rigidity

Correct Answer: Rigidity

QID : 59 - In the following question, out of the given
four alternatives, select the one which is opposite in
meaning of the given word.

Irreversible

Options:

1) Certain

2) Permanent

3) Predetermined

4) Repairable

Correct Answer: Repairable

QID : 60 - In the following question, out of the given
four alternatives, select the one which is opposite in
meaning of the given word.

Potential

Options:

1) Lacking

2) Hidden

3) Modern

4) Ability

Correct Answer: Lacking

QID : 61 - In the following question, out of the four
given alternatives, select the alternative which best
expresses the meaning of the Idiom/Phrase.

Out at the elbows

Options:

1) Stubborn

2) Poor

3) To be blunt

4) Rigid

Correct Answer: Poor

QID : 62 - In the following question, out of the four
given alternatives, select the alternative which best
expresses the meaning of the Idiom/Phrase.

Come off

Options:

1) Launch oneself

2) Be separated

3) have deposited

4) Taking leave

Correct Answer: Be separated

QID : 63 - Improve the bracketed part of the sentence.
I will allow you to stay here when you (will deposit) Rs
800.

Options:

1) has deposit

2) deposited

3) have deposited

4) No improvement

Correct Answer: No improvement

QID : 64 - Improve the bracketed part of the sentence.
Rohit's miserable condition (made her wept).



Options:

1) made her to weep

2) made her to wept

3) made her weep

4) No improvement

Correct Answer: made her weep

QID : 65 - In the following question, out of the four
given alternatives, select the alternative which is the best
substitute of the phrase.

Treatment by means of exercise and massage.
Options:

1) Chemotherapy

2) Electrotherapy

3) Redundant

4) Radiotherapy

Correct Answer: Redundant

QID : 66 - In the following question, out of the four
given alternatives, select the alternative which is the best
substitute of the phrase.

One who journeys from place to place.

Options:

1) Hesitant

2) Itinerant

3) Daughter

4) Triumphant

Correct Answer: Itinerant

QID : 67 - In the following question, a word has been
written in four different ways out of which only one is
correctly spelt. Select the correctly spelt word.
Options:

1) Doughter

2) Daughtor

3) Daughter

4) Duaghter

Correct Answer: Daughter

QID : 68 - In the following question, a word has been
written in four different ways out of which only one is
correctly spelt. Select the correctly spelt word.
Options:

1) Appearance

2) Appearence

3) Appaerance

4) Apearrance

Correct Answer: Appearance

QID : 69 - Rearrange the parts of the sentence in
correct order.

Low initial and

P: of cellular communication
Q: recurring costs are

R: an important advantage
Options:

1) QRP

2) PQR

3) RPQ

4) PRQ

Correct Answer: QRP

QID : 70 - Rearrange the parts of the sentence in
correct order.

The relevance of education

P: will have to be ensured

Q: social, cultural and economic progress.
R: professionally in the context of
Options:

1) PRQ

2) RPQ

3) QRP

4) QPR

Correct Answer: PRQ

QID : 71 - In the following passage some of the words
have been left out. Read the passage carefully and select
the correct answer for the given blank out of the four
alternatives.
We have all an old saying “a friend in need is a
friend indeed". A real or true friend is always to
help us when we need them. At the same time, it is our

to remain helpful towards our friends. This
proverb means that ‘a friend who helps his friend in

is a real friend’. The proverb could be taken to
mean that ‘friends on each other’. If someone is
our friend, we should be glad to help them when they
need us. And we can assume that this sentiment is
reciprocal. That is what true friendship is about.
We have all an old saying
Options:
1) read
2) across
3) heard
4) saw
Correct Answer: heard

QID : 72 - In the following passage some of the words
have been left out. Read the passage carefully and select
the correct answer for the given blank out of the four
alternatives.
We have all an old saying “a friend in need is a
friend indeed". A real or true friend is always to
help us when we need them. At the same time, it is our
to remain helpful towards our friends. This
proverb means that ‘a friend who helps his friend in
is a real friend’. The proverb could be taken to
mean that ‘friends on each other’. If someone is
our friend, we should be glad to help them when they
need us. And we can assume that this sentiment is
reciprocal. That is what true friendship is about.
A real or true friend is always
Options:
1) willing
2) billing
3) chilling
4) thrilling
Correct Answer: willing

QID : 73 - In the following passage some of the words
have been left out. Read the passage carefully and select
the correct answer for the given blank out of the four
alternatives.

We have all an old saying “a friend in need is a
friend indeed". A real or true friend is always to




help us when we need them. At the same time, it is our
to remain helpful towards our friends. This
proverb means that ‘a friend who helps his friend in
is a real friend’. The proverb could be taken to
mean that ‘friends on each other’. If someone is
our friend, we should be glad to help them when they
need us. And we can assume that this sentiment is
reciprocal. That is what true friendship is about.
it is our to remain helpful
Options:
1) wish
2) compulsion
3) problem
4) responsibility
Correct Answer: responsibility

QID : 74 - In the following passage some of the words
have been left out. Read the passage carefully and select
the correct answer for the given blank out of the four
alternatives.
We have all an old saying “a friend in need is a
friend indeed". A real or true friend is always to
help us when we need them. At the same time, it is our

to remain helpful towards our friends. This
proverb means that ‘a friend who helps his friend in

is a real friend’. The proverb could be taken to
mean that ‘friends on each other’. If someone is
our friend, we should be glad to help them when they
need us. And we can assume that this sentiment is
reciprocal. That is what true friendship is about.
helps his friend in is a real
Options:
1) greed
2) need
3) weed
4) speed
Correct Answer: need

QID : 75 - In the following passage some of the words
have been left out. Read the passage carefully and select
the correct answer for the given blank out of the four
alternatives.
We have all an old saying “a friend in need is a
friend indeed". A real or true friend is always to
help us when we need them. At the same time, it is our

to remain helpful towards our friends. This
proverb means that ‘a friend who helps his friend in

is a real friend’. The proverb could be taken to
mean that ‘friends on each other’. If someone is
our friend, we should be glad to help them when they
need us. And we can assume that this sentiment is
reciprocal. That is what true friendship is about.
friends on each other'.
Options:
1) burden
2) rely
3) deny
4) cry
Correct Answer: rely

QID : 76 - What is the full form of IDA?
TS, 3. U, FT AT T FAT 8?2

Options:

1) Indian Development Association

3f3uaT Sgeudc TafAvesT

2) International Development Association

ST SadUHe THIfAUe

3) Indonesian Development Association

ZSfATST STeUHT TAIAUL

4) Italian Development Association

seifode Sadudie taifauesT

Correct Answer: International Development Association
ST SadUHe THIfAUe

ST SadUHe TAIfAUe

QID : 77 - What is the record of all economic
transactions of a country in a particular period called?

foreT gor fr v AfRaa 3afr & g arelr Fafr s
dled-aT & 3R I FIT FHgd o7
Options:

1) Balance of Payment

2) Fiscal Deficit

TSN =1eT

3) Current Account Deficit

Tl Wl ©er

4) Balance of trade

IR T HJolol

Correct Answer: Balance of Payment
ST Aol

SATAR T HJolel

QID : 78 - Which schedule of the Indian constitution
deals with ‘Forms of Oath or Affirmations’?

HRAY faurs & fha egeEr & 9y a1 yidie &
IR’ & X H §dTaT 87
Options:

1) First Schedule

qgeT 3T

2) Third Schedule

A T

3) Fifth Schedule

tﬁlﬁ 9 N

4) Twelfth Schedule

Correct Answer: Third Schedule

ol SregeEh
T . QN

QID : 79 - Which Article of the Indian Constitution gives
the arrested person the right to be presented before a
magistrate within 24 hours?

HRAT diaure & o 3o # FREART & 24 "er
F IR ATGEE & THA U gl FT JPR §?

Options:
1) Article 24



3T 24

2) Article 21

3Teoe 21

3) Article 22

FHefeoe 22

4) Article 14

3T 14

Correct Answer: Article 22
IHeTeoE 22

3eTede 24

QID : 80 - Where was the capital transferred to, from
Delhi by Muhammad Tughlaqg?

HEFAG JITeTeh SaT feoell & 3(9ell ASTUTeh &gl Feell
q?

Options:

1) Agra
STIRT

2) Lucknow
[SREG Y

3) Ferozabad
[ERUSICI o

4) Daulatabad
ACKIEICS

Correct Answer: Daulatabad

ACGIEICY
ACGIEICY

QID : 81 - In which Indian city did the East India
Company first landed?

3T 33T U6 P HRAT e H Ugell SR 3A?
Options:

1) Calcutta

FHelehedl

2) Bombay

ELE)

3) Madras

Hara

4) Surat

Wd

Correct Answer: Surat

L3RG

N

LSRG

N

QID : 82 - What is the value of Prime Meridian?
YHE IR &1 AT T 72

Options:

1) 0° Latitude

0° 37&frer

2) 0° Longitude

0° &eMeelk

3) 180° Longitude

180° CRIl=X

4) 180° Latitude

180° 378&Trer

Correct Answer: 0° Longitude
0° &M

QID : 83 - What is the Pluto called after August 2006?
3ITEA 2006 & G ToleT IE I AT gl STl 572
Options:

1) Planet

g

2) Dwarf Planet

St T

3) Moon

TGHT

4) Blue Planet

srerm 7Ig

Correct Answer: Dwarf Planet

Sl a1

Sl a1

QID : 84 - Which is/are biotic components?
I. Plants

II. Animals

I1I. Soil

frT & ¥ 39 e P &2
L. et
1L 57

I1I. fagY
Options:
1)Only I

a1

2) Only II

Sadl 11

3) Both I and II
I dar 11 gt

4) All 1 II and III
Y I, IT q2r III
Correct Answer: Both I and II
I dar 11 gt

ol 11

QID : 85 - Muscular contractions of alimentary canal are

IR Aol 3 Jefrr waert FgeTd Bl
Options:

1) Digestion

Yot

2) Chewing

BEIGI

3) Peristalsis

SheAThUe

4) Churning

KICIES

Correct Answer: Peristalsis



FAIG A

UTdeT

QID : 86 - Number of RBC increases if one lives at
higher altitude because .

FATS gTol TUTT W T arel o & olel I&Fd
FIFRAFBT FT TE&AT 96 JATAr & FiTh |
Options:

1) There is less oxygen on mountains

gdal W ATadTeTeT & AET A glar &

2) More heat is required in body for producing body
warmth

R T A F AT 310 Fvar Hr 3maeTsan
g &

3) There are no germs in mountain air

adde arg #F Frery A e

4) There is more oxygen on mountains

9ddl IR 3rfAR3iTerste Ired ghar &

Correct Answer: There is less oxygen on mountains
udal W 3iferdieteT i AT A g §

gddt W AT H AT HA g §

QID : 87 - Rainbow is a natural phenomenon of
of light.

SateIY T Ueh UTehiclh IRECHT § S Jehrer & o

gl

Options:

1) Reflection
RIaded

2) Refraction
39adet

3) Diffusion
[ERURETU
4) Dispersion
faarqoT

Correct Answer: Dispersion

ICER
ICER

QID : 88 - Which of the following statement is not true
regarding electromagnets?

faegd ga & T & Pl AT HYT T @I §7?
Options:

1) They do not lose magnetism when electric current is
switched off.

¥ Rega gRT &7 JaT§ FATA @t T 39T daehea
8 @id|

2) They can be made very strong to lift heavy objects.
Seg 3IcTd AT =T 3o & forw 3fa ged Jamm o
T Bl

3) They are used to separate magnetic material from
junk.

SoTehT 3ULNET Hhals A Yahg qerdl i JUFh Hlel &
forw famar e B

4) They attract pieces of iron

§ R & TS & R A E

Correct Answer: They do not lose magnetism when
electric current is switched off.

9§ fegd URT T JATE FATCT @l T HGAT Jeohed
e @i

d fdegd URT &7 YaTg FATC gl W AT Joehed
e @I

QID : 89 - Which of the following is not a part of
Computer network?

SIH W HiT W1 Teh HTYY Acash & REAT 781 872
Options:

1) Bridge

forst

2) Cable

dr

3) Modem

AlSH

4) Mouse

HAH

Correct Answer: Mouse
HAH

EE]

QID : 90 - Sub atomic particles of atoms are
TUATOL3T & 39 TLATY] HOT gl
Options:

1) Only protons

Fael et

2) Only neutron

el 7ggiel

3) Both protons & neutron

SIeTel AT =ggiel ket

4) Proton, electron & neutron

e, Folerclel T #ggle

Correct Answer: Proton, electron & neutron
HICTel, Folerclel AT wggle

WICTel, Folerclel AT wggle

QID : 91 - The state in which molecular attractions are
very strong is

mem.mmﬁwm%,ag



4) None of these
STH A IS 8T
Correct Answer: Solid

3

QID : 92 - All the interacting organisms in an area
together with the non-living constituents of the
environment form an

RdT & & Tt Sfig JUr aIaTaRoT & 3oild RS
TGFT & q &l Bl

Options:

1) Ecology

gRfEfahr

2) Hotspot

3) Ecosystem
CIRGES

4) System
quTTel!

Correct Answer: Ecosystem

SIEGE]
SITGES

QID : 93 - Which among the following is not among the
four key priority areas of National Action Plan for
Children-2016?

farafaf@a & @ Fia a1 s=ar & for Ty F3
IS 2016 % TR ST YrAfAdr &7 & =78 872
Options:

1) Survival

Scadehiadr

2) Health and Nutrition

FATELY YT qIeoT

3) Education and development

e Jur faerE

4) Skill development

Hierer faera

Correct Answer: Skill development

Hierer ey
Scadaitadr

QID : 94 - Who first measured the speed of light?
TITLH Ghrer A afa foraer AT o2

Options:

1) William Gilbert

faforaer Peee

2) Isaac Newton

SEECI Col

3) Olaus Roemer

el IR

4) Albert Einstein

3eae MEENT

Correct Answer: Olaus Roemer

N A

HSoNF =gl

QID : 95 - Heena Sidhu is associated with which sport?
& g e Wer & o g§ ¥
Options:

1) Hockey

glehT

2) Cricket

[ETa

3) Table Tennis

aa e

4) Shooting

ofen

Correct Answer: Shooting
o

o

QID : 96 - Phad paintings are type of based
paintings.

%8 FAHN T gaR & 3menia R &
Options:

1) Pen

helH

2) Scroll

it

3) Brush

ER)

4) None of these

SoH § HIS AET

Correct Answer: Scroll

v

Eehlel

QID : 97 - Who among the following is not a recipient of
Arjun Award 2017?

fFafafld & @ ST RWEPR 2017 T Yrocehd! Hiet
oTet 82

Options:

1) Devendro Singh

&deg e

2) Harmanpreet Kaur

HANT B

3) Cheteshwar Pujara

TARET GoIRT

4) Geeta Phogat

Ifrar weTe

Correct Answer: Geeta Phogat
afrar wheme

HAUT B

QID : 98 - Who is the author of the book named “Tale
of two Cities"?

"T 3 g A" ATHS JEh & AW hiof g2
Options:
1) Vikram Seth




e a3

2) Charles Dickens

e feha

3) Patrick White

g cgIsT

4) Shiv Khera

g &

Correct Answer: Charles Dickens

EI IR EC T
EIC IR EC T

QID : 99 - Which among the following is a bi-annual
maritime exercise between Indian and Russian Navy?

IR 3R & A9ar & ST v geTchR # e &7
T e AT FHLT I &2
Options:

1) Hand-in-Hand

2) Indra

3%

3) Surya Kiran

& feror

4) Konkan

HihoT

Correct Answer: Indra
EEY

SUNETU]

QID : 100 - Which among the following is not an
operation performed by Indian Peace Keeping Force
against LTTE as a part of the Indo-Sri Lankan Accord?

farafaf@a & & Sl a1 g3r-Aieer Frgia & ded
Ta.8.8.8. & faog fhar aar R 87 872
Options:

1) Operation Viraat

3itRereT faRre

2) Operation Trishul

HfoereT Frefer

3) Operation Checkmate

TR ThaT

4) Operation Meghdoot

Ao Aegd

Correct Answer: Operation Meghdoot
3ffavere Fugd

3ffavere Fugd



